# **NORTH CENTRAL INSTITUTE**

# **Continuing Education Flight Courses**

North Central Institute (NCI) maintains partnerships with reputable CFR Part 141 flight training schools in the country. SkyWarrior Flight Training (located in Pensacola, Florida), CAE Aviation Academy Phoenix (located in Phoenix, Arizona), and AeroGuard Flight Training Center (located in Phoenix, Arizona) provide flight training courses to those interested in continuing their aviation education. The objective is to prepare students to obtain a private pilot certification (PPC), with an instrument rating (IR) and/or multi-engine rating (ME).

Through these partnerships, students may elect to attend SkyWarrior Flight Training, CAE Aviation Academy Phoenix, or AeroGuard Flight Training Center. The training partner will provide the following training courses at one of its approved CFR Part 141 training facilities. Students may elect to participate in one or multiple training courses.

### AVI 100 - Private Pilot Certification (PPC) - 6 Credit Hours

Students will complete the required ground, dual, and solo flight instruction to meet the FAA requirements for the Private Pilot Certificate. In addition, this course covers the requirements for all ground and pre/post flight training to enable the student to successfully complete the FAA Private Pilot Written Exam. Students who enter the course must be able to hold an FAA class 3 medical certificate required to complete the Private Pilot Certificate check ride.

### AVI 110 - Instrument Rating Certification (IR) - 6 Credit Hours

Students will complete the required ground, dual, and solo flight instruction to meet the FAA requirements for the Instrument Rating. In addition, this course covers the requirements for all ground and pre/post flight training to enable the student to successfully complete the FAA Instrument Pilot Written Exam. Students who enter the course must be able to hold an FAA class 3 medical certificate required to complete the Instrument Rating check ride.

### AVI 120 - Multi-Engine Rating (ME) - 6 Credit Hours

Students will complete the required ground, dual, and solo flight instruction to meet the FAA requirements for the Multi-Engine Rating. This rating may be done as either a Commercial add-on or a Private Pilot add-on. Students who enter the course must be able to hold an FAA class 3 medical certificate required to complete the Multi-Engine Rating check ride.

Schedule: Ground Classes meet Monday - Friday, 8:00 a.m. - 5:00 p.m.

- Morning class is held from 8:00 a.m. 12:00 p.m.
- Afternoon class is held from 1:00 p.m. 5:00 p.m.

Flight classes meet Monday – Sunday, Flight schedules vary to include night flying sessions.

Schedule and pricing is subject to change without notice. See NCI's website for current schedule.

#### NOTE:

- \* Should the training provider's cost increase beyond the rates listed, NCI will add a surcharge to each invoice equivalent to the cost which is incurred above the below listed rates.
- \*\*Training Provider's reserves the right to set its own Designated Pilot Examiner (DPE) Fees. Training providers will add a surcharge to each invoice equivalent to the additional cost the training provider incurred should the training provider choose to set a higher DPE Fee at the time any Student conducts their DPE check ride.



## SKYWARRIOR FLIGHT TRAINING | PENSACOLA, FLORIDA

4141 Jerry L. Maygarden Rd., Pensacola, Florida 32504

## **COURSE RATES AND FEES**

Private Pilot Certification (PPC)	Hours	Rate	\$ 24,995
Instructor Time - including ground school	147 hrs	\$ 60	\$ 8,820
Aircraft Rental	58 hrs	\$ 250	\$ 14,500
FAA Written Exam	1hr	\$ 175	\$ 175
DPE Practical	1 hr	\$ 1,500	\$ 1,500
Instrument Rating Certification (IR)	Hours	Rate	\$ 22,775
Instructor Time - including ground school	135 hrs	\$ 60	\$ 8,100
Aircraft Rental	52 hrs	\$ 250	\$ 13,000
FAA Written Exam	1 hr	\$ 175	\$ 175
DPE Practical	1 hr	\$ 1,500	\$ 1,500
Multi-Engine Rating (ME)	Hours	Rate	\$ 12,160
Instructor Time - including ground school	36 hrs	\$ 60	\$ 8,280
Aircraft Rental	17 hrs	\$ 500	\$ 3,910
DPE Practical	1 hr	\$ 1,500	\$ 1,500
Housing & Applicable Fees			\$ 9,125
Books and Flight Training Supplies		\$ 1,125	\$ 1,125
Administrative Fees (includes non-refundable \$75 app fee)		\$ 1,500	\$ 1,500
Housing (Single occupancy for training duration/Per Student)		\$6,500	\$ 6,500
Total Estimated Cost*			\$ 69,055
Remedial Fees		Rate	Rate
Single Engine Solo & Dual /hr (Glass DA 40 or equivalent)		\$ 250	\$ 250
Single Engine Solo & Dual/hr (Non-Glass Cessna 172 or equivalent)		\$ 180	\$ 180
Multi Engine Dual /hr		\$ 500	\$ 500
AATD /hr		\$ 110	\$ 110
Instructor briefing/post briefing time /hr		\$ 60	\$ 60
Supplemental Fees		Rate	Rate
Fuel Peg/gal		\$ 7.00*	\$ 7.00*
FAA Written		\$ 175*	\$ 175*
DPE Fee / Check ride		\$ 1,500**	\$ 1,500**
Accommodation / week (single bedroom occupancy)		\$ 325*	\$ 325*



# CAE PHOENIX AVIATION ACADEMY | PHOENIX, ARIZONA

5010 E. Falcon Dr, Mesa, AZ 85215

## **COURSE RATES AND FEES**

Private Pilot Certification (PPC)	Hours	Rate	\$27,794
Computer Based Ground School	1 hr	\$ 870	\$ 870
Instructor Time	101.7 hrs	\$ 55.5	\$ 5,644
Single Engine Aircraft Rental	53 hrs	\$ 350	\$18,550
Single Engine Sim Rental	3.7 hrs	\$ 150	\$ 555
FAA Written Exam	1 hr	\$ 175	\$ 175
DPE Practical	1 hr	\$2,000	\$ 2,000
Instrument Rating Certification (IR)	Hours	Rate	\$19,775
Computer Based Ground School	1 hr	\$ 870	\$ 870
Instructor Time	83 hrs	\$ 55.5	\$ 4,605
Single Engine Aircraft Rental	28 hrs	\$ 350	\$ 9,800
Single Engine Sim Rental	15.5 hrs	\$ 150	\$ 2,325
FAA Written Exam	1 hr	\$ 175	\$ 175
DPE Practical	1 hr	\$2,000	\$ 2,000
Multi-Engine Rating (ME)	Hours	Rate	\$11,186
Instructor Time - including ground school	38.5 hrs	\$ 55.5	\$ 2,136
Multi-Engine Aircraft Rental	14 hrs	\$ 450	\$ 6,300
Multi-Engine Sim Rental	5 hrs	\$ 150	\$ 750
DPE Practical	1 hr	\$2,000	\$2,000
Housing & Applicable Fees	•		\$12,375
Digital Charts, Books, Docs (Foreflight) and Flight Training Supp	lies		\$ 975
Administrative Fees (includes non-refundable \$75 app fee)			\$ 1,500
Housing (Single occupancy for training duration/Per Stude	ent)		\$ 9,900
Total Estimated Cost*			\$71,130
Remedial Fees		Rate	Rate
Single Engine Solo & Dual /hr		\$ 350	\$ 350
Multi Engine Dual /hr		\$ 450	\$ 450
AATD /hr		\$ 150	\$ 150
Instructor briefing/post briefing time /hr		\$ 55.5	\$ 55.5
Supplemental Fees		Rate	Rate
Fuel Peg/gal		\$ 4.50*	\$ 4.50*
FAA Written		\$ 200*	\$ 200*
DPE Fee / Check ride		\$ 2,000**	\$ 2,000**
Accommodation / week (single bedroom occupancy)		\$ 495*	\$ 495*



## AEROGUARD FLIGHT TRAINING CENTER | PHOENIX, ARIZONA

530 W. Deer Valley Rd, Phoenix, AZ 85027

## **COURSE RATES AND FEES**

Private Pilot Certification (PPC)	Hours	Rate	\$23,245
Instructor Time	93 hrs	\$ 85	\$ 7,905
Aircraft Rental	55 hrs	\$ 205	\$ 11,275
AATD	5 hrs	\$ 140	\$ 700
Ground School	48 hrs	\$ 30	\$ 1,440
Online Ground School FAA Written Exam	1 hr 1 hr	\$ 250 \$ 175	\$ 250 \$ 175
DPE Practical	1 hr	\$ 1,500	\$ 1,500
Instrument Rating Certification (IR)	Hours	Rate	\$20,010
Instructor Time	73 hrs	\$ 85	\$ 6,205
Aircraft Rental	40 hrs	\$ 205	\$ 8,200
AATD	16 hrs	\$ 140	\$ 2,240
Ground School	48 hrs	\$ 30	\$ 1,440
Online Ground School	1 hr	\$ 250	\$ 250
FAA Written Exam	1 hr	\$ 175	\$ 175
DPE Practical	1 hr	\$1,500	\$ 1,500
Multi-Engine Rating (ME)	Hours	Rate	\$12,795
Instructor Time	28 hrs	\$ 85	\$ 2,380
Aircraft Rental	20 hrs	\$ 415	\$ 8,300
AATD	3 hrs	\$ 140	\$ 420
Ground School	6.5 hrs	\$ 30	\$ 195
DPE Practical	1 hr	\$ 1,500	\$ 1,500
Housing & Applicable Fees			\$12,375
Digital Charts, Books, Docs (Foreflight) and Flight Training Supplies			\$ 975
Administrative Fees (includes non-refundable \$75 app fee)			\$ 1,500
Housing (Single occupancy for training duration/Per Student)			\$ 9,900
Total Estimated Cost*			\$67,400
Remedial Fees		Rate	Rate
Single Engine Solo & Dual /hr		\$ 290	\$ 290
Multi Engine Dual /hr		\$ 500	\$ 500
AATD /hr		\$ 140	\$ 140
Instructor briefing/post briefing time /hr		\$ 85	\$ 85
Supplemental Fees		Rate	Rate
Fuel Peg/gal		\$ 7.47*	\$ 7.47*
FAA Written		\$ 175*	\$ 175*
DPE Fee / Check ride		\$ 1,500**	\$ 1,500**
Accommodation / week (single bedroom occupancy)		\$ 450*	\$ 450*